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QUESTION 1

A company generates 1 GB of ticketing data daily. The data is stored in multiple tables Business users need to see
trends of tickets processed for the past two years. Users very rarely access the transaction-level data for a specific date.
Only the past two years of data must be loaded which is 720 GB of data Which method should a data architect use to
meet these requirements?

A. Load only two years of data in an aggregated app and create a separate transaction app for occasional use

B. Load only two years of data and use best practices in scripting and visualization to calculate and display aggregated
data

C. Load only aggregated data for two years and use Direct Discovery for transaction data
D. Load only aggregated data for two years and use ODAG for transaction data

Correct Answer: D

QUESTION 2

A data architect completes development of a new app with two data sources Both data sources will also be used by
other apps in the future The sources have different data refresh frequencies: Source 1 Contains frequently updated data
and must be refreshed hourly Source 2 Contains data that is transferred from a partner and must be refreshed weekly

Tasks must be created to load the data sources and make sure that the new app uses the most current data The data
will be stored in two QVDs.

Which tasks should be created to meet these requirements?

A. 1. ScheduleTask 1 to run hourly and refresh data from Source 1

2.

ScheduleTask 2 to run weekly and refresh data from Source 2

3.

Schedule a task for the app that is dependent on completion ofTasks 1 or 2 that loads the two QVDs
B. 1. ScheduleTask 1 to run hourly and refresh data from Source 1

2.

ScheduleTask 2 that is dependent onTask 1 to refresh data from Source 2

3.

Schedule a task for the app that is dependent on completion ofTask 2 that loads the two QVDs
C. 1. ScheduleTask 1 to run hourly and refresh data from Source 1

2.
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ScheduleTask 2 that is dependent onTask 1 to refresh data from Source 2

3.

Schedule a task for the app that is dependent on completion ofTasks 1 and 2 that loads the two QVDs
D. 1. ScheduleTask 1 to run hourly and refresh data from Source 1

2.

ScheduleTask 2 to run weekly and refresh data from Source 2

3.

Schedule a task for the app that is dependent on completion ofTask 2 that loads the two QVDs

Correct Answer: D

QUESTION 3

Refer to the exhibit.
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The Section Access security table for an app is shown User ABC\PPP opens a Qlik Sense app with a table using the
field called LEVEL on one of the table columns.

What is the result?

A. The user gets an "Invalid visualization" error

B. The table is displayed without the LEVEL column
C. The table is removed from the user interface

D. The user gets a "Field not found" error

Correct Answer: A
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QUESTION 4

A table is generated resulting from the following script

LOED =,
ate (OrdarTime) as Dato;
LOAD ¥ INLINE

,,

order; OrdarTime
YARCY,2017-03=-12 10:203%15
XYE 20 T-03-12 11u2iils
'DERY.Z017-03-12 10:21:i35%7;

When the data architect selects a date, some, but NOT all, orders for that date are shown How should the data architect
modify the script to show all orders for the selected date? A)

LOAD +,

Datef (OrderTime, 'YYYY=-M{=-DD' ) as Date;
LOAD * INLINE [

Order, OrdarTime

YEBC' 2017-03-12 1042818
YEYE 20170312 1121115
'DEF"+2017-03-12 10:21i35);

B)

LORD -
| ol

Floor (MakeDate (OrdarTime, "¥¥Y¥Y-MM-DD')) as Date;
LOAR * INLINE [

Order, OrderTime
:..Et'.;a__'—'3 12 30:26:15
"XAE 201 T7-03-12 1T1:21:15
'mEF',2017-03-12 10:21:35]:

C)

LoRD W,

Dats (Flopr{OrderTime) , "YYYY-MM-DD") =3 Cats:
LOAD ® INLINE [

Order, OrderTime
'ABE' ;201 T-03=12 10:20+%15
AYZEY,2017-03-12 131 :21:415
'BEF' ,Z2017-83-12 402135} ;

D)
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Date (DrderTims, 'YYYY=-MM-DD') as Dace:
LOED = INLINE [

Order; OrderTima

TERC 20 T-03-12 1023015
XY 20170312 11:21:15
'DEF',2017-03-12 10:21:35];
A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C
QUESTION 5
Refer to the exhibit.
FulfillmentCenter LocationCode LocationDate  City |atitude longitude
A 1 03/01/2009  boston 42.35843 -71.06977
B 2 01/01/2010  chicago 41.87823 -87.6298
c 3 06/06/2012  memphis 3514853 -890.04898
D 4 02/01/2010  los angeles 34.06223 -118,2437
A 5 08/02/2012  seattle 47 60621 -122.3321
OrderDate  ltem FulfillmentDate  FulfillmentCenter
01/01/2008 3054 02/11/2013 A
09/10/2012 4091 08/02/2012 B
04/03/2015 3056 12/09/2014 D
0211172013 1035 01/04/2016 B
08/02/2012 2060 02/01/2009 B
12/08/2014 3039 117102014 C
01/04/2016 4050 07/12/2008 D
07/12/2008 3089 05/03/2013 C

A data architect has a data model that includes historical order fulfillment centers. The order fulfillment
centers occasionally changed location. The history of order fulfilment must be tracked on a per center, per
location basis.

Which scripting function should the data architect use to meet this data modeling requirement?

A. IntervalMatch
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B. Peek

C. ApplyMap
D. Inner Join

Correct Answer: A
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